ERITEE EERHEHERAAR (EBRXR) FRITE10A27 BRI
B ff B > 813 — K & (5T E & FR 3 L)
H17.5.25 8 0101-061-431-001 TILE—Y KA B BE/NEAR 425MHz 429MHz
e 1on BEAPCHIERYVEE s — oo 588.4kN 1176.8kN
H17.5.25 244 1861-18-120-001 (PCIBR) T ERWE (600) (600)
o 1nn. BEAPCHHENMVEE HHE=
H17.5.25 244 1861-18-120-001 (PCHEFD) © 515 10.30
1RO BEAPCHIERYVEE = oo 784.6kN 1569.1kN
H17.5.25 244 1861-160-001 (PCIB ) T ERWE (801) (801)
an BEAPCHHENVEE HHE=
H17.5.25 244 1861-160-001 (PCHEF) © 8.05 16.10
H17.5.25 295 3023-100-0 oL—24tEM QDR B HYEREA) 64,700 64,600
H17.5.25 13> EAS106F IE B2
B =1 | X% | 12<7=<18 [18<T=<24] —— [ E% [ 12<1=18 [12<T=<18]
H17.5.25 13> EAS14458 IE =
B ! [ B | 12<T=<18 [18<T=<24] —— [E» [ 1<7=18 [12<T=18]
H17.6.2 43> ThinaiTH 685(1E) <«———  685EFME(ER)
H17.6.15 254 1884-048-001 40— 1B REY (3"3) 3.6
H17.6.15 254 1884-050-001 JA4vao—7 ZREFRAEH 3.6 7
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B fF B o 8 a— F & ¥ i1 IE & FR iE iR
i =
o e @ Egxi B HUER (94) (%, 1,030 @ Egxi1 B LY (948) (%, 1,120M
H17.7.27 4a> | FALTATE~ @ HA1E SR (1) (5. 8187 @ HA1ELYEE (1) 12, 847M
THAS8TE||® BEOERIBLYRIERMME X 23008 | 4 |@ SEDERIHLYRIMEEMOM (X, 2530/
@ sEZEQHAIESYREERHG3ME) X, 1,440H @ BEOHAIBSYREEIERGME) (. 1,520
iE A
(ZFD1)DHE (O < BE AR+ 1) < ftABEH (ZDN)DOFAZE () x Bz B ¥+ 148) x A B %
= 1,030M x 128+818M x 208 = 1,120M x 128+847M x 20H
H17.7.27 [<44>~ TH3fTH~ = 12,360M3+16,360F = 28,720 = 13,440M3+16,940 = 30,380
~ = (FD2) DA (134§ x EIR A% <« |(ED2)DF5E (134 x EIRE X
<45> LMB44TH - 2300 x 126 = 28680 = 2,530M x 128 = 30,360M
(ZD3)DAE (158 x {tHEAHK (ZD3)DAZE  (158) x H£ABA %K
= 1440 x20H = 28.800M = 1,520 x 208 = 30,400/
H17.10.27 <94> Eif LA 55T H SEa—k~ FR—-/—HE 12-4-0 14-5-8
H17.10.27 214 1708-037-200-001 LAN)LLa—45 &It ch 2 1
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